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Topic:- Child Development & Pedagogy (CDP)

1) Bipolar disorder is which type of disorder? /

Ryd R (TEawR i) fFa 1or o1 fior 32
1. Mood / AIERI (48)

2. Learning / 3IfeRTH

3. Personality / SAfad@

4. Thought / o ?(%ﬁf)

Correct Answer :-

+ Mood / T-IERT ()

2) Which of the following best describes the Theory of Mindset? /

Frafaf@a & & o-w1 aaRiea & Risia &1 9a9 ST 9 $vd1 82

1. Fixed mindset stops cannot be changed / fRR AFfyear fovm (ﬁo—ﬂg ﬂ'l%%@?:’ E‘T’CF) P geal ERASIRIESI %I
2. Fixed mindset only brings failure / fRR TG (fhais Agsdc) Had 3Bl Sl gl

3. Growth mindset defines Intelligence /E?I?,TWFI'@H’T‘IT, §® 2l uﬁuﬁﬁam%l

4. Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. / WG ATRIGT, AW Bl Ueh AN IbIae & =0 & @] 8, GURA
3R AR R BT 3R TR R

Correct Answer :-

« Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. /uﬁamﬁw, W@WWW%W'&W% ﬁﬂﬂef
3R 3BT B9 BT SfawR St 81

3) Which of the following is a social-learning theorist? /
FrafafEa & & o= ve amie-Rian Rigia 22
1. Bandura/ ST

2. Freud/ ThIIS

3. Wundt / gUC

4. Pavloy/ UTdEd

Correct Answer :-

- Bandura/ Sg31

4) Ruhi; an 11-month-old child calls every white liquid object as milk. Which

element of the concept development process is shown by Ruhi?/

F81; 11781 F1 Tl 8 3R 98 Ud® Wibe avd 9% B g Fedl 81 T8l §RT ATURCN BT ufthar &1 S 1 wigpfae w@uTa feaman w82
1. Analysis /%@W

2. Abstraction / H{F\‘fﬁ?—\’m

3. Generalization / JHT-IDH U]

4. Experience / 3{JHd

Correct Answer :-
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« Abstraction / 3[R0l

5) Learning is generally considered a lasting change in behavior based on:/

HHTE: ST, T W ST agR # U@ RITd ufiad= AT or 8:
1. Challenge and reinforcement / @‘-ﬁﬁm 3R ﬁ?m

2. Challenge and experience / ﬂ—"ﬁﬁfﬂ 3R 3fgHg

3. Practice and experience / 3% IR ~RGE)

4. Practice and challenge / 3{¥TH G'ﬁ?g:ﬁﬁﬂ'[

Correct Answer :-

» Practice and experience / ¥ 3R SRGE)

6) The concept of “inner speech” was introduced in language development by: /
YT & A § “3iidf¥e U0 &1 YR 3% gRT SIRY P 78 i
1. Piaget / o

2. Chomsky [T

3. Vygotsky /AT

4, Skinner /RFTR

Correct Answer :-

* Vygotsky GRS

7) Algorithms and Heuristics are the strategiesof ____ . /

P faf (o) ok eawor (ggRReaw)_ &t Iurdifaai €1
1. Teaching / fRreror

2. Problem Solving / JHIT JHTYUTT

3. Learning / SfRTH

4. Thinking / @

Correct Answer :-

- Problem Solving / JHIT JHTYTT

8) Which of the following statements is true? /

e d s s aa e

1. Growth is only a mental process / 3 Had U HFRID Ufehar H

2. Heredity doesn’t affect the learning process. /3IaifRiddT, IR ufohar &1 yurfad T AR
3. Development is only a quantitative process /[d®, Had U HEATES Ufohal H|

4. Learning is a process of behavioral changes / S W Tiadt ! ufehar %I

Correct Answer :-

« Learning is a process of behavioral changes / HfTH TR Ufkad-! &1 ufspar gl

9) The ability to apply a given general principle to a particular situation is called ./
it famiw uftfRufar & et fow o wmar=r Risia &) e & o1 armar & FEIAEIR
1. Inductive reasoning / WT‘I%

2. Exceptional reasoning / e«rrqmﬁm ﬂ*
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3. Deductive reasoning / FTTHA T
4. Logical reasoning / qifhe adb

Correct Answer :-

« Deductive reasoning / FTH dd

10) What form of learning is displayed when children imitate the violence they see in their favourite video games? /
AT 1 B |1 U UefRid g1 ¢ 9 9= S 1 31 Toa IaRd § S 9 oA uwidier difSa W A dEd 72
1. Operant learning / fEraToRd 31

2. Observational learning / Sfaed ST

3. Conditional learning / 3R AT

4, Latent learning / 3fode SfmH

Correct Answer :-

« Observational learning / 3@ ATTH

11) What involves the repetition of information so that it moves from the short term to the long term memory? /
I P gRIgHT & T AW & 91 98 ag-arei | Sd-wrei= wfa aw 9a?

1. Coding / F€ HPhcHROT

2. Rehearsal / qa’fmm

3. Chunking / =fd

4, Storage / UG

Correct Answer :-
e Rehearsal / ‘IEI'TEIW

12) Differences in behavior between two cultures can be attributed to: /
& Uwpfodl & di9 aER § SR & 1T $9 SURer |41 &I el o:
1. Geographical background / imifere qgﬂ{h

2. Socialization /AHTSNHROT

3. Heredity/3{TdfRraar

4. Environment / TR 0T

Correct Answer :-

« Socialization /AHTSHRUT

13) Piaget developed important stages of cognitive development. /

e AdgFs e ®  wagayul 9w faele fee
1. Five /U9

2. Eight / 3113

3. Four / AR

4. Three /1

Correct Answer :-

e Four/dR

14) It is easier to deal with all social situations, if you are aware of your J T arTfere fRufaat | fAraer smam= %’, Tlﬁ 3T 39 & aN A S %:I
1. Interests / et
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2. Talents / Hﬁtﬁ
3. Personality / Sfdd@

4. Hobbies / el

Correct Answer :-

« Personality / fdd@

15) IQ scores are generally _ correlated with academic performance. /
AR W AfZ® TR B0, Qe ve S oy wevagiid gid ¥
1. Least/ dH

2. Highly / 3afti&

3. Moderately / Ae9H ¥ 9

4, Perfectly / G T A

Correct Answer :-

« Highly / 3afd&

16) Which part of the brain is responsible for thinking? /
Af&Tes 1 B 1 W i & g Srer @2

1. Medulla / AT (BgeT)

2. Limbic system /Eqawaa mm

3. Cerebellum / STARTSS (ARaeeH)

4. Cerebral cortex / THKTSH depc (%T‘I m

Correct Answer :-

« Cerebral cortex / TR depc (@W m

17) Which of the following is a part of our working memory? /
Frafafea & @ o1 ot sriza wfa o1 0@ ffwm a2

1. Central executive / H%1T HIRIBRT

2. Declarative memory / STNUNE® Sl

3. Semantic memory / Wﬁﬂﬁ

4. Sensory register / Tadl IR

Correct Answer :-

« Central executive / $&1T HEDBR!

18) Which of these classroom practices may undermine pupils’ motivation at school? /

T A DA B & S faemers A fenfal 3t IRon ) HH 7R wwd 72

1. Teachers fail to notice students’ difficulties for remediation / fRI&fe GRI W Ea W%_"ﬂsﬂ}[ CARCEAG] AP ﬁfq I q@a'l:ﬁ T pd el

2. Teachers grade pupils’ competence as high / ﬁTWW ﬁ?ﬁlﬁ{m}f B AT ¥ 31 I 371'“

3. Teachers encourage low performing learners / g gr1 A9 U&= A aTa SHftaatal &Y TrTRed e

4. Teachers judge high achievers as excellent in high academic standard / e RIS QefOres AFS SH Al & T Y A I U UTe & aTel ofel Al

Correct Answer :-

o Teachers fail to notice students’ difficulties for remediation / JrﬁT&‘l—CF aRT W 3l W%_'ﬂg@f Eal ﬁ?ﬂ:[ FRAD ﬁm I EI—Eﬁﬂ:ﬁ T gmd gl

19) Which are the two Associative Learning theories? /

3 e ST Rigid S1-A &2
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1. Classical Conditioning and Operant Conditioning / T \?rIiEﬂF‘T (ER‘ITﬁﬁ?_(‘I a")_spf‘ﬂﬁ"'f) 3R gyt 3133?47‘[ (\?,ﬁ'q?if a?_spf‘ﬂﬁ"'f)

2. Classical Conditioning and Oppressive Conditioning / IR Gﬁ—d Y (WT@IW Eb_\s‘:mﬁ"'f) 3R Baﬂw 3@3 Y (GTW Eb_&ﬁ'Q'IﬁTD
3. Classical Conditioning and Operative Conditioning / R e (WT@W_Q‘T T&ﬁ'ﬁ'ﬁ'{) 3R m 3 (Gﬁﬁ_tf aﬁﬁmﬁ'ﬂ)
4. Classical Conditioning and Observant Conditioning | G 3 (aﬂﬁéb_ﬂ Fépfﬂﬁ"[) 3R fadH 3T (&ﬁﬁé? aa—e'?rmﬁm

Correct Answer :-

 Classical Conditioning and Operant Conditioning | TR GIi—Q’?F‘T mﬁww‘ Si=Ifm) 3R gurdt 3‘[7‘1,324—"[ (\?rl'lv'lﬁ_(‘.r Harafm)

20) Nive’s father has grey hair and is tall, so she thinks that all fathers have grey hair and are tall. Which stage is this approach? /
15 & e & 9T Aibe ok T ¥, 3ARIT a8 Wradt § 5wt & fran & ara wive ok o ¥ 1 98 eRwiv fra s A @2
1. formal operational stage/ e Ifeharde® srawit

2. concrete operational stage / Tf TfohaTeTd SraRT

3. sensorimotor stage / YodeieR @i

4, pre operational stage /U,_\Tlf RIERICCRERE

Correct Answer :-

* pre operational stage /‘-]ﬁ Tfhard® SawT

21) Eysenck added a third dimension to the personality trait, which is:/
ST 7 AfRI@ S TP TGN HTITH B T4 P13, T§ PH-AT13?

1. Agreeableness/ HgHdl (E“}ﬁm

2. Conscientiousness/ 3{dfddeaiiadr (Hﬁ'v&’ﬁﬂ'ﬂﬁﬂ)

3. Neuroticism/@ﬁ\_ﬂ

4. Psychoticism/ maﬂﬁm

Correct Answer :-

» Psychoticism/ maﬂﬁm

22) A child cannot wait his turn to bat and often runs on to the field when someone is already batting. What problem could the child be facing? /

wgm%mmmmmqﬁmmsﬁ?mﬁaqwasm%maﬁ%mﬁaaﬁmaﬂwwmélwmmﬁw
TRTERI?

1. Dysgraphia / f&Ent ST

2. Attention Deficit Hyperactive Disorder / &TFTHTT Ud sfaafead fder
3. Attention Deficit Disorder / &9 34T fddbR

4. Autism / em%—\_rq)&n'cqﬁ'q‘rs'(

Correct Answer :-

« Attention Deficit Hyperactive Disorder / STTHTd Ud sffaafsrgdt faeR

23) Who among the following is a humanistic theorist? / ﬁ'ﬂﬁ'l@ﬁ - @' ﬁq Th TI'F'ﬁTﬂaTcﬁ ﬁlm %?
1. Sigmund Freud / s wras

2. Ivan Pavlov / WW

3. Aaron Beck /@—4@(&7

4. Carl Rogers / EAGRUEE

Correct Answer :-

 Carl Rogers / Pt Ao

24) Attitude towards learning is best defined as something that ./ 3R & wfa ?@?ﬁw P I 3t A &b Fu &y fomar wran % il %I
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1. can be modified only by the learners themselves/ Dae RI&TIdT gRT g SR fobar S gepel

2. can be modified with age/ 31 & T RN foma S b

3. can be modified by creating positive learning environments/ HPRTHD ST FTATaRUT S-THR TN fma T ahdl
4. cannot be modified/ TRNTAT g1 T S bl

Correct Answer :-

 can be modified by creating positive learning environments/ JpRTHD SFNTH FTATaRUT ST RN foa ST bl

25) Round Robin Charts are used as a formof ____ ./
IGSARFAE . FFUH wga fPu e €1

1. Summative Assessment / TS THTT

2. Diagnostic Assessment / e siea

3. Interim Assessment / 3N 3MHa

4, Formative Assessment / XITHD HTh AT

Correct Answer :-

o Formative Assessment / XdATHD b

26) Today’s classrooms are likely to have a wide array of cultural, ethnic, and racial ______among student /

TS & F&TH H B & 9, IRPlaP, A SR TG Ft U fIvga §@ar g4 &1 GUG 1 2|
1. Dynamic / Tfgpaar

2. Similarities/ JATAY

3. Diversity / fafaerar

4, Continuities/ Rl

Correct Answer :-

« Diversity / fafaerar

27) Giving a stimulus to a child once to motivate him/her is:/

TH 9= B WA B & e 3/ Ixifora w31 e giar 3
1. Continuous reinforcement / FFRTR YE@IHRUT

2. Operant conditioning /3{TRC HSIRIT

3. Reinforcement / JEGIHRUT

4. Neutral stimulus / dC¥J Ao

Correct Answer :-

. Reinforcement/ﬁ??.ﬂav_{UT

28) As a teacher when you are working in a inclusive class room, your role should be: /

T RIgrd & ©U A 99 MY TP JUERN H&T § $ R 38 819 §, 9l 3yt YT gt afge:
1. Punisher / &8 & aTell

2. Care taker / EHTA HRA aTall

3. Investigator / 3IAYH

4. Facilitator / ggTIPh

Correct Answer :-

« Facilitator / gD
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29) ‘Bob can put together a model airplane’. This statement is an indicator of which attribute of aptitude test? /
'qT9 U HiSH gaTs WeTd &1 Ueh TIY T Whd & I’ g Y, ARGy udieror 31 fw fagivar o1 4% 82
1. Clerical thinking/ﬁ’lﬁaﬁqﬁﬁq

2. Spatial thinking/@mﬁ?ﬂ

3. Organisational thinking / ST [EGE]

4. Intellectual thinking /m IEGE

Correct Answer :-

e Spatial thinking/@mﬁﬁq

30) What is the term used to denote the basic, innate disposition of a child? /

TP g & gd, THTd WU B e $33 & e i ug &1 uair farar wimar 32
1. Personality / Hfddd

2. Temperament / Tl AT FriTet

3. Disposition /3R

4, Attachment / e

Correct Answer :-

e Temperament / W a1 ﬁ-ﬁﬂa

Topic:- General Hindi (L1GH)

1) &t it & oA st &t wdien A<ht § o1 e F R o 97w a7 ) 7ra € A A vw g i Sva ) O w3 & 91 arow A | A3 IR g, <3 wan-an
@M S W oY Y, STBT FaTd UT| T3 TgeT RS T gl Rl & orF 39 ave S IR0 B 3N1fe &Y gt §1 AR Fyoyrr R 1 oy vl Y i @1 &, 9 aga v 3wa €1
T TE T4 § 7 ye SIS ot & HeT wR gH 3R fh it 318 fasdie fiw 7 3@ g - RO po oft fears =t At Aps) Aue il et €, R & g s wgmm e E

IR T B UG 1 T T 94 BT SR Fa15¢|
UY: ‘PO TN o) TE | b1 3 82

1. 7ieT

2. 3HfdBia

3. fody

4, 9PR

Correct Answer :-

2) Fft I & A o Y wdtem A<t §, o1 @R & o o a8 T dma B g € ¥ 9 e g i Siva Y & e & 91 araw A1 | 89 399 g, «3u
F@T?” <o W At TE),” STBT TaTd UT| 3 Tge TR Tt g1 Rl & ora 39 avg & IR 3 3nfe &) gt §1 I fayrar B 1 7 vl Y ST R & d sga su 3w §1
T U ¢ o UaT ®IS oivter § Her W gi 3R e oft o1 fasiw ofiw =1 3@ 931 - O po i s =181 dan- el e el frardt €, R 8 g o vgaH adi 1

UL TN Y TeHR 19 TB YUY BT IR TS
WY: 9% 30 i & ST & 91 F 71 gl @2
1. ST § R |

2. STE & 1 Ry

3. ST B Fl g

4, SITSt fomt SR 2T

Correct Answer :-

. STl ® R |

3) o W & a0 s Y wdten AR §, a1 W@ F R 5 97 71 3@ ¥ wa § F A9 ve g i s $ R A F a1g 9o A | 3 3R YT, <3 e
@ “HE TR dl ET,” SADT JaTd 4TI Y Igd 3ol -Te} gl Filfh & o 3 ave & Iu”l a1 3fe 81 gt § | IR fagyra ¢ o o @il 1 3ife gl €, I sga su d@a 81
T 9g THG & {6 WA B wivra § geT wR g 3R fire W i famie fiw 7 3@ g - O 3o oft fears 7Y aan- Ssl Aue A et €, ot & g aR vea Al §1
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SUYS TR DI UgHR -1d YD MY ¥Y BT IR gastl
TY: 3@ 7 g1 W 78 il B FI ugard 32
1. I it

2. TTH

3, SAPR

4. M

Correct Answer :-

4) - Hf & oo i 3 vdien AR § o1 WA F g 7% 95 71 T ¥l wa @ F A9 v fra fr s 3t W BA F a1g o il AR SR gET, “SiuR St
3@ S W A 7EY,» STBT oaTa UT| Yo T5 SeRe T g Faifh & ord 39 a¥g & I &1 31fe ) g §1 R Ry 2 B R dif A sifd A 8 A sgapw dma €1
T 9 U & T a1 IS oirar § ger wR g 3R e oft 31 e fiwr 71 3@ g - PRt 7o oft feas =18t St Aot T il et &, Rt f g weaH Al €1

IR T B UgH 1 T T 94 BT SR I

Y: THT BT faey eg g2

1. 3&YT

2. Qi1

3. 3wy

4. 419

Correct Answer :-
. 3HYT

5) M- FW & 3= st Y ofien Ad § o1 wEA F e 7% 98 71 3@ €1 Fa € ° A9 ve g e sira 3 IR B F 918 arew |idl | 3 3 ST, “3iue St
T “PS W A TEY,» STBT STaTE UT| T3 T8 Sra<el 8T §a FTh § 3T 39 ae  Iudl A IN1fe ) gt §1 AR Ry § e R ol A oS 6 &, d sga sm A B
T U ¢ o UaT BIS oivter § ter W gi 3R e oft o1 Ay ofiw =1 3@ 931 - O 7o 41t s =€) dern- el e el freret €, R & @ o vgaH adl 1

I T B U ) IR T UY BT SR IadTs|

T 3fe g o | arerd 82

1. 37T g AT

2. 3R & S

3. 3fd g1 ST

4, 3MTed g ST

Correct Answer :-
o 31Ed B ST

6) T HW & o= Y Y ofien AN § o1 e F e 7% 97 71 3w €1 e & A A9 v g fr sira 9t IR B F a1g roy |l | B S gST, “3iTuR St
T@AT “Ho W A T8, IS o1 AT| T T8 3R 8T g3 I A 3 U N8 F Su B IN1fE 81 I §I T Ry & B R ari Y @ SR ¥ I sga sH dma B
FIT I8 WU & T ye HIE o & HeT wR gh 3R 5 oft 13 fadie e 7 3@ g - R oo oft fleard Y Aan- sl Aue i et € R & g e vgmm AR E

IR TR B U -1 TR T U4 BT SR I3

U Y Terrn oy sre 1 R fomar wan @2

1. 7g

2. ST

3, IR It

4. TR

Correct Answer :-

7) - FW & o= Rt Y ofien AR § o1 e F e % 98 71 3@ §1 wva & A A9 ve A e sira 3 W wA F a1g arow il A SR gET, “imus Snan
@Y “HB W Al T81,” SAST o1aTd 4TI Y3 95 3ol Te} g3 41T & 3id 39 e & I<| &1 3fe 81 g § | AR fayrar & o R el 1 3ifd eI €, I sga v @ §1
mugww%%waﬁémﬁmmqﬁsﬁ?ﬁnmﬁ%ﬁm?ﬂwq%@g@ R po W Rard 7€ 2a1- Swsl e div Rierdt &, fre A g s veaF At €1
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SUYS TR DI UgHR -1d YD MY ¥Y BT IR gastl
TY: ST 31 yafaarh e 32

1. 3R

2. faare

3. fagm

4.9

Correct Answer :-

8) T w3t & oA il 3t wdlen At § o1 R & o o 9 @ 3w #) wra € A 7 ve g i siva 3 IR A & a1g arow il A SR g, s S
3@ S W A 7EY,» STBT oaTa UT| Yo T5 e T g Faifh & ord 39 avg & Il &1 31fe Y g €1 R Ry 2 B R drif A sifd A 8, A sgapw dma 81
T TE THT § 7 ye B ot & HeT wR gH 3R fp it 318 fasdie fiwr 7 3@ g - R oo oft Rears 1t At Aeps) e il firercht €, R & g e wgmm A E

IR T B UgH 1 T T 94 BT SR I
wy: R $o i e 78 3ar s A e 2
1. 98 9 Tg] G|

2. 98 1A Tg1 T |

3. 96 9 I8! Il |

4. 98 1 781 Fbdll|

Correct Answer :-

. 98 ¢H Rl gHdl

9) FM- HW & 3= st &Y wfien Ad § o1 WEA F e 7% 98 71 3T €1 79 € ° A9 ve g e s 3 IR B F 918 arew |t | 3 I BT, “3ius St
@ “HS W a1 TEY,» STBT AT UT| TS T8 Srawe Te1 5o T A 3/ 37 ave & Sudl 31 1R &1 gt 1 Ry P R i Y sifd M § s sgasndma &
FTIE WA ¢ 5 Wel 1 o et & geT wR R 3R 5w oft #i fadlw fier =1 3@ g9 - O 79 oft Rwd =1t 3ar- ot e A freredt €, P d g R vgwm A )
IUYE TV P TgHR ) UD 7T UY BT I7R T3¢

uY: ‘wREAr e

1. Gt fora

2. HHF 3R SHHP GHI

3. SR APE TN

4, 3fmYe foma

Correct Answer :-

. JpH® fpar

10) FW- Fft & o= ot ot vt A §, o1 WA F g o a7 7 W ¥l wTe € A A v vy i wia 9 R A & a1e a0 e | BN SR Us, «3imu -
@A “H© W A T8, IS o1 AT| T Tgd 3R T8 g3 I A 39 U N8 H Su B 1S 81 I §I W Ry & B R A Y S SR ¥ Isga sH dma B
FIT g HUT g T a1 $IE sirar & der wR g 3R bR oft i ke fier 71 3@ 9 - R o ot R =18 Aan- At e A frere €, Rt A g s weamr At

IR TR B U -1 TR T U4 BT SR I3
vy: R 1 waigard e T8 72

1.9

2.4

3,991

4.4

Correct Answer :-

11) FW- Ff & 3o At ot vt A §, o1 A F R s 95 71 T ¥ e & A B v A s wiva I IR w1 S 916 0w At B SR gs, <3 wn-a
@Y “HB TN dl T81,” SAST oaTd 4T | YeI 95 3ol 16} g3l F41fd & 3d 39 ave & I<) &1 3fe 81 g § | AR fayrar & o R vl 1 3ifd eI €, A sga v @ §1
wugww%%waﬁémﬁmmqﬁaﬁ?ﬁnmﬁ%ﬁm?ﬂwq%@gﬁ R 7o W Rt 7€ 201 Swsl e div Rierdt €, e A g s vgam At €1
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SUYS T DI UgHR -1d YD Y Y BT IR gastl
TY: <3RS T a4 32

1. 3{BHRU

2. et

3. 3RO

4, 3™

Correct Answer :-

. amef

12) FW- Ff & 3o st o5t vt A §, o1 A F Ry o a7 7 W ¥ wa @ A B9 v Ay i wiva 1 IR FA F 918 90w At B SR us, <3 -
@2 5 T Al LY, STPT STaTa AT | G T5d 3l T8 T TP & 39 § a5 & Iox) B 31fe & g §1 A1 Ry R R il Y i@ DN 8 A sga pm 3w
T TE T4 § {5 ye B ot A HeT wR gH 3R fh it 318 fasdie fiw 7 3@ g - R oo oft Rears 1t At Aeps) e il firereht €, R & g X wgm e §

IR TR B UG 1 T T 94 BT SR I

uy: {7 &7 9ga= eq g2

1. fot

2. i

3. Tl

4, gt

Correct Answer :-

g,

TR UG RIS
FADBR dlell R-3R

woydarerat

e

Fga fe e

T 3T 79 & W gul

uEeh Hogaet Are it

g S g

WA 2

ITT T FI UGHR 19 D WM AT UY BT IR arsy|
WR: IO 1 U9 Tgard! Te 82
1. SIRTYAT

2. gt

3. ST

4, AT

Correct Answer :-
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T 4 It

e Ut

wi A fD-em 2

EERIEK

THA R uid RS I
FAPR Gl 3R-3R
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HEAST = o sAregerierd = afcd & ||
IERPHTAT faeaT Iochelel €eieT T |

srera fagzra fagar wqelt & suere=rd ||

‘qudlerd o afcd @' 39 | 3T e vd gEAfd|
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Yeliehl UfScar HefATESerT TRaed GH e A -
T3 o IO AT T dfcd I: T |
G T 7 AEFTTIFT 7 3fcd I ||
TERMATAT faeaT geheleT €37 4T |
37erar faegran faean Tl = suesad ||

AT Toer ured |
, TR
, TR
, AR

Correct Answer :-
ITRAAYAT
[ T AN
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TRede gfScar geaTed Ageac] FaAd -

AIEAGEAIR: ST a1 "HglcAr weifafe: waegas: ue: ufdg:|
A HAgdarEancy: GREOT UEUSNE: IFAAl § TAHEd QU
Tade>ad, VTod, HACGOARdR: WRANES: 3Hddl 3Id U@ &
IhTa#[d: 38Tl T VT 6TRATT TqdeAdIAT: FFaGhy 310l ferac| i
HGAGRET Sied ISRId-FISITATS UG "IREeel’ AlHh TAT 37|
3T AT FFAdee:, AT T Ydellay AR Alge: FOd: Iqy 3H9cAY
HieAss: AR UV Aer@rca AT, Tcgsera:, faa=d, fEn srammees:,
AEEEE, SRAHFd: T HAEKl TG JE AT TR E
HATIUGHSIhdale]  dar AT Higalsi &0 #@8 dF  3esd|
Teihlc=IN U9 AredfAw e aR@aAcdare | Oy gk o:
TAIGATTAEATIT HEIET A=l IO hodrecdledd| T EHuIROT,
Teigdllel, Farqugon, afdadr T i) fafgemreTamedq SRy ggameme
T HlgeT: FIUSC SENH| IHAATT, Y9 Al T AH-ATC-GUaR I
gfdaraare| oo ufdem da Tawlsf o 3ecfadr 37adl dar gisAoT
goe 3rd SRTET uedl dsear sIRA UcarResd |

It :Waﬁgmzmmr—craiaﬁ—
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URTdE afScar 9o AGHACR JIAd -

AIGACRIee: ST a1 “HglcAT ejfcifen: qeletqaeh: uG: Irag: |
A AgAarEanicy: GREUT UEUSERE: IHAAl H UARE  SUE
EIde>gd  UTod, HAAIEARTE: WRANES: JAadl Ad Ud
clihfa#d: 3Tl T U $IRATT TIAAIIT: TGy 3ol 3iefac|
AT e IoRId-HISAETS ToRT "UReeel AT T 3787a|
3 AT aTee:, AT T Gellars 3R] Agel: T@iud: aqy 30y
Hfelss: I Y dR@ERcT fAdeT, dcgsera:, faad, & smamees:,
IfgEEE, SEHFA: T A F&T dEF  Udr  THRiclsIE
HATIUCHSAIhdle]  dar Al HlgalsiT  &@U=ar @8 dF 37
Teihle=R Uq Aredfadanr e aR@aAcdas| OERady grege o:
TACUGTHIEATIT HEIAT AT UM Fodeededed| A LR,
Tigllelr, Faragen, 9fdadr T 3Rl fafaumreTaedd aRTey ggamsme
T HIgeT: SICIUSCY STHA| IHA] Ia W e W—Hﬁ'ﬂ—%{luuqoﬁoﬂu
ufdardars| o 9fder dd FawisfU o Iedfadr 3ie7ad] dar giRe@oT
Uo- 3T ST uedl oetdl $Rd Ucal<ad |

31TEA aafl e faarg: FAsad-
TRIATa el

1.

, 3t

, Tty
, e

Correct Answer :-

. FaIEer
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Yol UfScar HfATEsesd TReed AGH e A

W el [HTS lod ‘:I'U_J rl'cvalrd HlAdT: |

o UGATATSied 91d fdfed Toetd: ||
TATAE TRISCT dedholted gapo:

qH 3§ gidrst fAfdersy faey: |

T d e7afd GRaT I JooT e
FAART T IR HIsaTel A &g ||

HAGT: TceAd: TAd Hafed

Topic:- Mathematics (MAT)

1) From the sum of 2m2 + 3mn + 3p, — 4m2 — 7mn + 5np — p2 and 5n2 + 4np + 2p2-p subtract the sum of 6n2 —-m?2 — 5p2 — 4mn and -m2 + np + p2+2p. /
2m?2 + 3mn + 3p, — 4m2 — 7mn + 5np — p2 ¥9 5n2 + 4np + 2p2-p F AT A | 6n2 -m2 — 5p2 — 4mn TH —m?2 + np + p2+2p & TRT B T¢I

1. 11m2 +8n2- 4p2 -4mn —2m?2 +6np + 2p

2. 3p2

3. 5p2 n?+ 8np

4,8n2—5p2-7mn —2m? + np + 2p

Correct Answer :-

. Sp2 n?+ 8np

2) A farmer wants to fence his regular hexagonal plot of side 200 meter. What is the total length of rope required? /
T 5 200 Wew Yol F TH-TTYW THR aId YES & 918 AT A1gdl 8 1 30 Y mazgsd it &t ool dars fea-i ghft?
1. 1400 meter / 1400 Hiex

2. 1000 meter / 1000 HIeX

3. 600 meter / 600 HieR

4, 1200 meter / 1200 Hre?
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Correct Answer :-
e 1200 meter / 1200 fiex

3) On selling a tea set at 10% gain and a lemon set at 20% gain, a crockery seller gains 26. If he sells the tea set at 5% gain and the lemon set at 15% gain
he gains 17. Then the actual price of the tea set and the lemon set? /

10% o WTH R T &1-T< 3R 20% $ d1H W TP Ydd-Ae 991 W, Th I} fdshdl 26 TUU BT A1 U T 2| Al 98 5% P ATH W 1-Te 9UT 15% & a1H W)
Tred-Ae 9T @ A S/ 17 I ST A1 9T ST 7, A A-Je e da-3e 1 aRafdd gw 82

1.75, 80
2.200, 100
3. 100, 80

4. 150, 120

Correct Answer :-
« 100, 80

4) A hotel requires 91 bottles of oil for a week. Find the cost of oil it will require for 58 days if one bottle costs Rs. 98. /

U Eled 31 U Juig A 91 §idd da 31 ATa=IHT gidl 81 i U diadd Pt anTd 98 $Ud §, dl 58 faf & fiw mazas da # are 31d #31
1. Rs. 72384 / 72384 ¥

2. Rs. 75460 / 75460 T

3. Rs. 75400 / 75400 9

4. Rs. 73892 /73892 ®Ud

Correct Answer :-
« Rs. 73892/73892 F0

5) Breaking up of the mathematical concept into smaller parts is termed as -/
TiTT YR B Bie R § de HET A1 3

1. synthesis /W

2. analysis /%&ﬁw

3. inductive / TTHAT

4. deductive / T

Correct Answer :-

« analysis / fa=aoor

6) Fill in the blanks. /
e =T W

I-53+__ =53

II[11 + (-1)] - (_) = () + [(-14) + (-9)]
1.1:0, I: -9, -11

2.1:0, I: 9,-11

3.1:53, II: -9,11

4.1:106, II: 9, 11

Correct Answer :-

« 1:106, II: 9, 11

7) If the perimeter of a regular octagon is 320 cm, then the length of one side is: /

i TP qU JPYS BT URATY 320 VW 2, ol TP! TP Yol I TS &
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1. 60 cm/ 60 I
2. 80 cm / 80 JHt
3. 40 cm / 40 Jft

4,70 cm /70 9t

Correct Answer :-
« 40 cm /40 I

8) Which of the following will give a whole number result? /
fFrafafaa & ¥ #19-a1 uRum & v § ve gof T e
i. 6-2

ii. 6/5

iii. 0x3

iv. 7-9

1A, i, dii, iv o/ Y, i, i, v

2.i,and iv/i, T iv

3. Only i/ &%ad i

4.1, and iii /1, Td iii

Correct Answer :-

« i, and iii /1, T iii

9) A conjuncture is a statement which we believe is true, based on mathematical intuition and if we proved it, then it becomes a i

Wﬂés@mm)wamq%mawm%ﬁ?wm%,qﬁnﬁﬁﬁuamhwenm%eﬁwmmsﬁmﬁamﬁm,a‘rﬁw T
ST 81

1. postulate / Sy
2. axiom / WERIG A1 RIgid
3. theorem / g

4, statement / HYT

Correct Answer :-

« theorem / g

10) Amicable numbers is discovered by -/
THPad AR F @ FRT P TE |

1. Euclid / g[oas

2. Thales / Riee)

3. Pythagoras / tl'lg?»l'l'rhw

4, Plato /@'@f

Correct Answer :-
« Pythagoras / TTBYNTRY

11
) Ifu, = x; — 900 X fiu; = —400,% f;, = 100, then x= i

1
A u, = x,— 900,% fu, = —400, % f, =100, a x=__ .
1.984
2. 546
3.782

4. 896
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Correct Answer :-

* 896
12) o
Evaluate : = 2then xis:
x“+2x+4
= i s
Hedlehe F T 2 E%, ar x %
1.2
2.1
3.3
4.4

Correct Answer :-

13) In A PQR and ALMN, PQ=NM. £P= £M. The two triangles will be congruent by
SAS axiom if :
APQRUT ALMN # PQ=NM. /P=sM | T-hIv-gfal ffgiad ZarT &1

1. QR=ML

2. PR=ML

3. QR=MN

4. PR=LN

Correct Answer :-

« PR=ML

19 Inthe given figure, O is the centre of the circle, £ 0AB=60° and the radius
of the circle 6 cm. Then the area of the triangle is:

few 70 @faT # 0 g F FF §, 2L0AB=60"HR Fea Fr B=Aw
6T & o Pgw #7 awa ©

A B

943 cm? / 9+/3 THE
1343 cm?/ 13+/3 §HR

72 em? / 742 T

3.

4.6cm2/6®1ﬂ2

Correct Answer :-
93 cm? / 9v/3 THP
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In an equilateral triangle ABC, AD 1L BC, AD? = xBC? thenx =

T A TSt ABCH, AD 1 BC, AD? = xBC: AT x =

4.4

Correct Answer :-

W w

16)
If @ and 8 are the zeroes of the polynomial 3x2 + 5x + 7. then% + .i% is

ﬁaﬁﬁw3x2+5x+7$?ﬂm§?ﬁ%+%= g1

1910
2101

37
, 82

243
4 310

Correct Answer :-

190
. 343
17)

Ifthe side of the equilateral triangle is 4+/3 which is inscribed inside a circle . then the area of
the circle is:

afe waag B i 4o 4v3 § S o god & eX HfRd § o Ied @ e g
. 36m cm? / 367 T2
, 16m cm? / 16 dH?
97 em? / 9 THY
15 cm? / 152 SHR

Correct Answer :-

16m cm? / 16n T2
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In two triangles ABC and PQR , AB=QR BC=(QP,AC=FP then:

ar Bt ABC3{R PQR #, AB=QR, BC=QP, AC=RP &, an:

AACB

Ile

AQPR
1.

AABC = ARQP
2.

AABC = APQR
, MABC  AQRP

Correct Answer :-
AABC 2~ ARQP

19) There are 30 laddus in a plate. Anil took? laddus if 10 laddus remained balance. Choose the
matching equation.

t'a:ané’rﬁ?,{}as—g:\ﬁaﬁae‘rga@ﬁﬁlaﬁma@awigm%,ﬁ
gATed THEROT S =0T |

2-10=30
2
30-2+10=0

30+ 1o=;i

n

30—-=10

4.
Correct Answer :-

30—-=10

ABCD is a trapezium in which AB || DC. If arfAABD) = 24 cm? and AB = 8 cm, then the
altitude corresponding the side AB of AABC is .

ABCD U& HHWH b, 88 AB[DC 1 IfZ(AABD) &7 al5wd =24 AR T AB =8
T 8.9 AABCHr H91d o ABHI I B

1. 16 cm/ 16 9

2.8 cm/ 8 Tt

3.7 cm /7 QH

4.6 cm/6GH

Correct Answer :-

« 6cm/ 69t

21
) If PQRS is a trapezium in which PQ[IRS and PS=QR ,then:

afg PQRSUF TAwY &, 5w PQIRS 3R PS=QR . an:
LP=r8

£P=/R
2.
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Q=128
3.

tP=r,Q
4,

Correct Answer :-

tP=2Q

22)

If @ and f§ are the zeroes of a quadratic polynomial x2 — 3x + 7, then the quadratic polynomial

whose zeroes a.re% and%is
afe o va p SfaTrd 9guE x? - 3x+ 7 & YA g, THEE gm%uaf% t.ag
&faad agug 21

1.x2—3x+?
2.?x2—3x—1
3. 737 +3x+1

4 722 —3x+1

Correct Answer :-

Tx?—3x+1

23) The average temperature of Monday, Tuesday and Wednesday was 75° C, while the average
temperature of Tuesday, Wednesday and Thursday is 77° C. If the temperature on Thursday was
767 C _then the temperature on Monday was ----—---—--—--—- :

HIFER, AeER 3R goar &1 Jid aaEe 75 e o, Fefh AeaR. gaar
3R TEAR 1 3T daHAEE 77° ATTE §1 I TRAR @ d9A 76° Aieaad o,
o WAER &1 dEAT o

T C
q29°€
782 C
T

Correct Answer :-

70°C

(113)* +(279)* _
(113)2-113=279+(279)2

1. 113
2.392
3.279

4. 639

Correct Answer :-
e 392

25) Choose the number divisible by 6. /


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

Google Play

6 ¥ fywifora 17 areft e &1 797 H¥ |

1. 2281

2.2148

3.2186

4. 2108

Correct Answer :-

e 2148

26) Choose the true statement about expression 4a3 — 37bc. /

P 4a’ — 37bc F ATY H W HYF BT TG N

1. a, b and c are the three terms of 423 — 37bc. /423 — 37bc F T UG a,bWdc gl

2. 423 and 37bc are the two terms of 4a3 — 37bc. / 4a> — 37bc & &l UG 4a> Td 37be gl
3. 4a3 — 37bc is monomial. / 4a3 — 37bc Wq—cﬂ'q%l

4,42 —37bcisa polynomial. /4a3 = 37bc UH a’g’CI?I%I

Correct Answer :-

« 423 37bcisa polynomial. / 4a3 — 37bc TH agcra%w
27) Find 222222 x 15. / 222222 x 15 EICK 2]
1.3333330

2.3333335

3. 3444450

4, 4444440

Correct Answer :-
e 3333330

28) A number is multiplied by 7 and 36 is subtracted resulting to thrice the number itself. Then the number is: /
TP GBI &1 7 | 0T B WX 3R ITH & 36 " W uRumdt T w@g &1 fi= 71 &) et 8, ot wen ¥

1.9

2.7

3.4

4.8

Correct Answer :-

29) Using the divisibility test, determine which of the following numbers are divisible by 82 /
Rvreritaar stiw @1 SuahT w3, Puffa o 5 Fafifee 3§ § $9-0 e 8 @ w82

1. 68324

2. 98780

3.74612

4. 37136

Correct Answer :-

e 37136
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30) The term synthesis in the Bloom's Taxonomy is revised as .
=T F Fiffevor # 2eg HRATOr B F Tu A T frar mar g1

1. Analyzing / fa=aor

2. Evaluating / Feid A

3. Creating / AT A

4. Applying / ARL AT

Correct Answer :-

e Creating / Fafu s

31) 11 square pits of side 1 m are made on a plot of land 7 m long and 450 cm wide. What is the area of remaining part of land? /
7 tiex @9 3R 450 It NS YA F TH TS W 1 HeR Yol I1d 11 TMHR T T91¢ o1 &1 YA F A9 A 31 S fban 2

1. 304 sq m /304 gifefieR

2.9.5sqm/9.5 e

3.20.5sqm/20.5 Fififier

4.31.5sq m/31.5 THR

Correct Answer :-

* 20.5sqm/20.5 Fififier

32) "Mathematics is the queen of the sciences and number theory is the queen of mathematics” is stated by: /
iifora, fagmt @1 I SR T Rigid (AvaR @) o &Y I+ 817 98 S gIRT $El AT 8:

1. Gauss /9

2. Bell /8

3. Fischer / freR

4, Bernard Thomas / EEIRIEr]

Correct Answer :-

« Gauss /Tﬁ'F

33) What is the successor of 99999? /
99999 T TR TS FT 82

1. 1000000

2. 100000

3. 99998

4. 99990

Correct Answer :-

« 100000
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35) The graph of the linear equation 5x+3y=-15 is the line which meets

the x axis at the point: /

EE TSI 5x + 3y =-15 BT U 95 7@ 8 St x IHer o 39 foig o Ryt 2
G-6)

1.

2.(3,0)

3.(0,-5)

4.(-3,0)

Correct Answer :-

36) The fourth vertex of a square whose three other vertices are (3,0),
(0,0) and (0,-3) is: /

T I o1 T 2 gra B, Ry e i =i (3,0), (0,0) T (0,-3) ®:
1. (3,-3)

2.(-33)

3.(-3,-3)

4.(3,3)

Correct Answer :-

+ (353)

37) The mirror image of (3,-5) in y-axis is: /

y-3181 R (3,-5) BT 3407 ufafed &:

1.(3,5)

2.(-:3,5)

3.(:3,-5)

4.(5,3)

Correct Answer :-

38) Which of the following is the equation of a line passing through the point (12,-13)? /
Frafifad § @ o9 g (12,-13) A Tor arel a1 o1 wiiao g2

1. 9x+5y=11

2. 7x+5y=19

3.2x-3y=-63

4. 9x-5y=174

Correct Answer :-

o Tx+5y=19

39) Immediate objectives are stated under i

TPTAILT & 3ieiid afoid &1
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1. affective domain / HTGTHD U&

2. connective domain / TSl &1

3. altitude domain / I=Id (Teicgs) U&l
4. cognitive domain / JTHD T&I
Correct Answer :-

« cognitive domain / TP Y&

40) ABC is an isosceles triangle with AB=7 cm and BC= 13 cm. How many such triangles exist? /
ABC Us JHfgaTg Ay 2, RRi AB=7 At ok BC= 13 371 21 ¥Q fbem Rrysi Aieg &2

1.2

2.1

3.0

4, More than 2 / 2 ¥ 31f%

Correct Answer :-

41) Find the co-ordinates of the point P which divides the join of A (3,-1) and B (-3,-4) in the ratio 2:1./
A (3,-1) Td B (-3,-4) B Sitg arelt ¥ &Y 2:1 F Srgural § fauiiira o arelt faig p &1 =i wra w¥1
1.(1,3)

2.(-1,3)

3.(-1,3)

4.(1,3)

Correct Answer :-

42) Find the area of the triangle formed by the points A(0,1), B(0,5) and C(5,4). /
R A (0,1), BO,5) T C (5,4) g1 Tl Byt &7 et w1 31

1. 8 sq.units / 8 ?F'f'siﬁl'sc

2. 16 sq.units / 16 Tif 318

3. 10 sq.units / 10 a7 TS

4. 5 sq.units / 5 T:|"'f3$l’$c

Correct Answer :-

e 10 sq.units / 1oa1f3$rs‘

43) learn by actually experiencing or carrying out physical activities. /

IRd § SHa B A1 IR Tfafafil ) e @ dred g
1. Kinesthetic learners / TR e fRigfmff
2. Auditory learners / #aUTH frameff
3. Sequential learners / 3IghTRI fRremeff
4. Visual learners / E¥d fRigmeff

Correct Answer :-

« Kinesthetic learners / TTfaoRe fRremeff

44) The area of square that can be inscribed in a circle of radius 6 cm is .
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ST EeTwa g, O ¢ I Breur archt ue g9 & siaifa Ipivl fbar s qar 81
1. 144 sq cm / 144 37 et

2. 72 sq em /72 3 it

3. 81 sq cm /81 G Tt

4,36 sq cm /36 I Tt

Correct Answer :-

e 72 sqcm/725|7fﬁ13ﬁ

45) The great school Alexandria during 300 BC was formed by ./

300 $91 qd & R We Wpd sResifsmpIfmior_ Fgrifemmran
1. Euclid / gfaaTs

2. Alexander the Great / Ridex 7igH

3. Pythagoras /UIE"’J'I"'?IW

4. Aristotle / 3R]

Correct Answer :-

o Alexander the Great / haR Hg [

46) The centre of a circle is at (-1,3) and one end of the diameter has co-ordinates (2,5), then the co-ordinates of the other end are i

TP G BT HF (-1,3) W & TUT T BT TP 3id &1 (32w 2,5) 8, Mg e w1 fdwis 21
1
(%)
, (~41)
3. (00
. 32
Correct Answer :-

L (=41

47) If the supplement of an angle is equal to itself, then the angle is: /
IS TP 10T T VRS T4 & SRR 8, A BT 3:-

1. Acute angle /Ifiaﬂ'UT

2. Right angle / FTHHIOT

3. Straight angle / F@HI0T
4. Obtuse angle / 31 P07

Correct Answer :-

+ Right angle / TSI

48) When learners makes their own definitions, concepts and theorems, they are making i
e Rrgmdf St ufvTaT, syRon SR Riia wd s g @a__ Fffasa gl

1. precision / qﬁ%@?ﬂ

2. generalisation / ITATRITHOT

3. accuracy / gyrfar

4. frequence / IRERAT

Correct Answer :-
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» generalisation / iR

49) In a singing competition, the points (maximum being 60) allotted to the 15 participants are 60, 52, 42, 40, 43, 44, 46, 46, 45, 42, 41, 40, 46, 48, and 46. What is the
mode of the above data? /

TS A ufeaifrar &, 15 ufauriiat &1 fau g oiw (3rfiead 60 B) 60, 52, 42, 40, 43, 44, 46, 46, 45, 42, 41, 40, 46, 48 TG 46 & | SWIT ATHST HT TgAD [PaAT 8?2
1.44
2.48
3.42

4. 46

Correct Answer :-

50) Find the odd one out. /
TS faun &) gra &3¢

1. Radius / T

2. Chord / SiIdT

3. Triangle / Y&

4. Point / fag

Correct Answer :-

. Point/ﬁ'_t}'s

51) A primary prerequisite for the child's ability to count is: /

T B 7 B & & e ve wrafie = @:

1. None of these / 70 T IS Tg1

2. Fluency in place value concept / I HIH SGYRUT H Y4 &l

3. Fluency in writing numbers / T%81 TG § U418 81|

4. Fluency with number word sequence / ST RTsg 3{JshH & AU TATE Bl |

Correct Answer :-

« Fluency with number word sequence / T3 XsG W%WUWB}I

52) “Curriculum is a tool in the hands of an artist (teacher) to mould his material (the pupil) in accordance with his ideals in his studio (the school)” was stated by: /

"UTeuag] U HaAThR (R1&h) & 314 § T IUSHRUI @ o 3UP ¥gfsal (Famea) & 39 e & AR Ius! armht (@E) &) ereq & e g1, a8
PYT 3P gRI P &:

1. Cunningham eaie
2. H. Robert Beck / Ud. e 9b
3. Derek Rowntree / S¥% 3 q?.j

4. W. Walter Cook / S&g, dlec} b

Correct Answer :-

. Cunningham/a'l—ﬁa'q

53) Which of the following methods is not advisable for a mathematics teacher since it takes the form of a 'one man's show'?/

TIforT & we Rigre & fore Fafafaa d§ @ sa-3 fafy Sfa 78 @ ®ife a8 s T o sreuaar gl
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1. Lecture method / SARSAT fafdy

2. Heuristic method / a@aﬁ?ﬁﬁ

3. Project method / afaerT fafy

4. Laboratory method / TR fafd

Correct Answer :-

« Lecture method / AT fafy

54) The Father of Indian statistic is ./
RISt FoTe 7

1. Gauss /T[\TIQ:T

2. S.P. Gupta / TE.ULI[w

3. P.C. Mahalanobis / ot <t IIE'IT’I—"ﬁm

4, Fischer / fihER

Correct Answer :-

« P.C. Mahalanobis / O} 3}, Ag@-Ifeq

55) How many whole number are there between 10999 and 11052? /
10999 T4 11052 & st fra-t guf Temnd &2

1. 49

2.50

3.52

4.53

Correct Answer :-

56) Anu wants to find the perimeter of a 5 point star shaped polygon drawn by Amal with each side 5 cm. Help Anu by finding the perimeter of
the star. /

3, 3T GRIT YWifhd fohdl T Yeldeh 5 A P YOI 91Q 5 WEE TR ATHR $ TgYS BT YRATY T BT G181 & | TR BT URATT F1d $A & 3 Bt W
Eadl

1. 50 cm / 50 It
2.15 cm/ 15 9t
3.75 cm/ 75 9t
4.25 cm /25 90

Correct Answer :-

« 50 cm /50 9t

57) CANCELLED

If the volume of a vessel in the form of a right circular cylinder is 448 ™ em? and its height is 7 cm , then the CSA of the cylinder is ./
R} T w T A0 F PR A TP T BT AT 448 T B gt geredt Soard 7 3 2, o A 1 9 ydia dwa 2l

1. 464 sq cm / 464 I 4t

2.378 sq cm /378 aif gedt

3.352sqcecm/ 352 if gedt

4. 482 sq cm /482 i

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
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e 352sqcm/352 i aft

58) CANCELLED

Psycho-motor activities under mathematics deals with: /
T & sieifa wIgel-HieY wfafaftai & Hala §1
1. All of the above /m Y

2. Drawing only /WW (313'“)

3. Manipulating only /WW (ﬁ?ﬁgéfém

4. Model making only / Haa Atea faufor (rﬁ@':?f m

Correct Answer :-

¢ All of the above / IR I+
59) CANCELLED

Consider the following statements: /

1.Whole numbers are closed under addition and subtraction but not under multiplication and division.
2.Integers except zero are closed under addition, subtraction, multiplication and division.

3.Rational numbers are closed under addition, subtraction, multiplication and division.

fFrafafee sy «® AR «¢

1. SIS 9 9e1d & dgd Quf T 3ff &) de fpar wirar 8 Wy o vd Ry &1 & agd "8t

2. I ) BISHR WIS, °USTd, NN TF faUTeH & ded Quiies ! de far simar g1

3. S, ¥eTd, U Ud fauTes & dgd ufieig WRens il & | forar Sirar g1

1. Only statements 1 & 2 are right. / $ad Y 1 Td 2 T &1
2. Only statements 2 & 3 are right. / HIT HYT 2 Td 3 TA
3. All the three statements are right. /gt A P T €1
4, All three statements are wrong. / G4 9l HY SR gl
Correct Answer :-

« All three statements are wrong. / 4T Tl HU= I B

60) For what value of 'k’ do the equations 4x — 2y = 3 and kx + y =5 represents two lines intersecting at a unique point? /

THBT 4x — 2y = 3 Td kx + y =5 F TP A=Y g W 3 wfossdl Yansii & =i & e 'k &1 9 framn 22

k-3

4.
Correct Answer :-

kz-2
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